AIAPGET Siddha

Topic:- 3SID_S01
1) g ;
Whiat is "Parotcha Grianam"?
1, Angrianar
2, Mulaithal
3, Kanaathia Grianar
4, Kanda Gnanam

LETTEF whmeuril arenr L LIRIeu S W me?
1, SR ERmar 0

2, (DEMETHSED

3, EMEOT TS ERTa LD

4, ST L rgh e LD

[Question ID = 241][Question Description = 101_7004_SIDD_OCT22_S1_Q01]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]

) Which Boetham is essential for the formation of medicines?

1. Vayu
2. Prithivj
3. Appu
4, Theyu
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[Question ID = 242][Question Description = 102_7004_SIDD_0CT22_S1_Q02]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]



3) Whio hiag accepted "Subava vatham"?

1, Saankiyar

2, Ulagayathar
3. Memamszagar
4, Maizedikar
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[Question ID = 243][Question Description = 103_7004_SIDD_OCT22_51_Q03]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]

4) "Arbu Aatral” s the otherwige called as:

1, Paraa Sakthi

2, Gnara Sakthi
3, Aadhi Sakthi

4, lcha Sakthi
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[Question ID = 244][Question Description = 104_7004_SIDD_OCT22_51_Q04]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]

) Irthia aala marathil Pei ullathy’ there is a notion, "This is a haurited

Baryan free' -

Thiz iz an example of which Alavai?
1, Dzhibu
2, Urimai
3, lytheegam
4, Eyalbu
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[Question ID = 245][Question Description = 105_7004_SIDD_OCT22_S1_QO05]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]

6 ;
) Given below are two staterments:

Statement | Pirakamiyam iz all about completing our desired action
without any interruption

Staterment | |t comprises of many typesof "Siddhi

Irvlight of the abowve staternents, choose the correct answer from the
options given below:

1. Both Staternent | and Statemeant || are trius

2, Both Staterment | and Statement || are false

3, Staternent | i true but Statement || iz false

4, Statement | is false byt Staterment |l s true
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[Question ID = 246][Question Description = 106_7004_SIDD_OCT22_S1_QO06]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4. 4 [Option ID = 984]



7 Wikich of thie following statements are correct, regarding to the

properties of sour taste;

A Glves pleasure to mind
B, Secretes Saliva

C, Causes goosebumps

D, Cleans the dirt of mouth
E. Thickeris the tongue

Choose the correct answer from the options given below
1.4 Band Conly
2, B, Cand D only
3. C DandEonly
4,4 Eand Doonly
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[Question ID = 247][Question Description = 107_7004_SIDD_OCT22_5S1_Q07]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]
3. 3 [Option ID = 987]
4. 4 [Option ID = 988]



8) Match List | with List 11

List | List 11

A Ragam|l. 5

B Kigsam 11,1

. Maadi 1118
Curivu W10
Chowose the correct ariswer from the options given below,
1A=L B=1 C- W, D=1l

2. A - B=Il, C-1,D- 1V

3A-LE-ILC-L,D-1V

448 - EB-IIlLC-1, D=
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[Question ID = 248][Question Description = 108_7004_SIDD_OCT22_51_Q08]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

9)

Whilch protein is implicated as a rigk factor in the onset of Coronary
Heart Disgages?

1, Homocysteing

2, Collagen

3, Glutathione

4, Lycoprotein
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[Question ID = 249][Question Description = 109_7004_SIDD_0CT22_S1_Q09]
1. 1 [Option ID = 993]
2. 2 [Option ID = 994]
3. 3 [Option ID = 995]
4. 4 [Option ID = 996]

10 \atch the Harmone deficiency and diseases
Listl List|l
A Antidiuretic Hormone | Cretinism
B. Growth Hormone I, Diabetesinsipidus
. Follicle stimulating Harmone I, Dvear fism
. Thyroxine I, Hypogonadism

Choose the correct answer from thie options given below.
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[Question ID = 250][Question Description = 110_7004_SIDD_OCT22_5S1_Q10]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]

) Whiat is the daily requirerment of potassium for humans?

1,3-4 giday
2.5-6 gjday
3.7-8 g/day
4,910 g/day
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[Question ID = 251][Question Description = 111_7004_SIDD_OCT22_S1_Q11]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]

12) Which isthe most important carbohydrate assocated with flatulence

caused by ingestion of leguminous seed?
1, Lactose
2, Sucroge
3. Maltoge
4, Reffinose
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[Question ID = 252][Question Description = 112_7004_SIDD_0CT22_S1_Q12]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]

13) Which are thie metals presentin the cytochrome oxidase, a

Metalloenzyme?
1, Copper and Zinc
2, Iron and Copper
3, Molybderum and Calcum
4, Manganese and Copper
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[Question ID = 253][Question Description = 113_7004_SIDD_OCT22_S1_Q13]
1. 1 [Option ID = 1009]



2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]

14 ;
) Giver below are tweo statements:

Statement | Riboflavin is synthesised by green plants and
miroorganisms

Statement |; Riboflavin iz heat stable

Irlight of the abowe statements, choose the correct answer from the
opticns given below:

1, Both Staterment | and Statement | are true

2, Both Statement| and Statement || are false

3, Staternent | iz true but Statement || s false

4, Staterment | is false but Staterment || s true
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[Question ID = 254][Question Description = 114_7004_SIDD_OCT22_S1_Q14]
1 [Option ID = 1013]
2 [Option ID = 1014]
3 [Option ID = 1015]
4 [Option ID = 1016]

A wWw N =

15) Given below are two statements:

Statement | Adult Hermoglobin (Hb&) has 2 alpha chains and 2 beta
chains and fetal hemoglobin (HBF) is made up of 2 apha chairisand 2
dalta chains

Statemenit |l Mormal level of Hernoglabin in male is 14-18g/dl and
females 13-15g/dl

I light of the abowve statements, choose the correct answer from the
options given below,

1, Both Staterment | and Statemant || are trueg,

2, Both Statement | and Staterment || are false.

3, Staternent | s true but Staternent || is false,

4, Staternent | is false but Staterment I is true,
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[Question ID = 255][Question Description = 115_7004_SIDD_0CT22_S1_Q15]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]

16 . ; ; i
) Pericardium and its contents live in

1, Superior mediastinum
2, Middle mediastinum

3, Anterior mediastinum
4, Posterior mediastinum
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[Question ID = 256][Question Description = 116_7004_SIDD_OCT22_S1_Q16]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

17) Which bone is not a part of knee point?

1. Femiur
2. Tibia

3. Patella
4, Fibula
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[Question ID = 257][Question Description = 117_7004_SIDD_OCT22_S1_Q17]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

18) Azygos wein drainirnto.

1, Infericr Wera Cava

2. SuperiarVera Cava
3, Left Subclavian wein
4, Right subelavian wein
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[Question ID = 258][Question Description = 118_7004_SIDD_0CT22_S1_Q18]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]

19) Which of thie followinig is not a retro peritoneal organ?

1. Pancreas
2, Spleen

3, Duadenum
4, Kidnay
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[Question ID = 259][Question Description = 119_7004_SIDD_OCT22_51_Q19]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]
3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]



20 . . ;
) Which cranial nerve i the lanigest nerve?

1, Trigeminal nerve

2, Facial nerve

3. Vagus nerve

4, Glogso pharyrigeal nerve

FELmes Brh L seailen wlaa b Harwnmar B ars?
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[Question ID = 260][Question Description = 120_7004_SIDD_OCT22_51_Q20]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

21) Haow rmany pairs of Salivary glands are presentin humans?

1.2
2.3
3.4
4,5

et sTEerle) aEsamer G 2 WlbhET ComeTmissT o steman?
1.2
2.3
3.4
4.5

[Question ID = 261][Question Description = 121_7004_SIDD_0CT22_S1_Q21]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]

22) Which hermione is secreted by Anterier Pituitary Gland?

1. Oxytocin

2. Antidiuretic hermene

3. Thyrotropin releasing hormone
4. Progesterone
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[Question ID = 262][Question Description = 122_7004_SIDD_0CT22_S1_Q22]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047]
4. 4 [Option ID = 1048]

23) Witamin B12 contairis

1, Copper
2, Cobalt
3, Chromium
4, Maniganese
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[Question ID = 263][Question Description = 123_7004_SIDD_OCT22_51_Q23]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]
3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

24 i ;
) Choose the correct staternents regarding the functions of adrenal

cortex,

A, Enharices the protéclytic function in tissus

B, Storesthe fat and nourishes the body when required
C, Mairitain lymphatics and WEBCs

D, Reduces the blood pressure

Chose the correct answer from the options given below:
1.4 only
2, & and B only
3,4 B and Conly
4, B and C only
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[Question ID = 264][Question Description = 124_7004_SIDD_OCT22_51_Q24]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

2 :
> Given below are two statermnents:

Statement | Cardiac muscle is compesed of Voluntary muslces only

Staternent [l When a single Cardiac musde fibre contracts, it leads to
gimultangous contraction of all other cardiac muscle filbre

I light of the above statements, chioose the correct answer from the
options given below:

1, Bothi Statement | and Statement | are trug

2, Both Statement| and Statement || are false

3, Statement | 1strue but Statement || is false

4, Statement | is'false but Statement | i true
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[Question ID = 265][Question Description = 125_7004_SIDD_0CT22_S1_Q25]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]
3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

26) Which organ is denated by "Satsu"?

1. Ear

2, Tongue
3, Mose
4, Bye

‘Fl & e E sThSs Qurnilanus ehlsEdarms?
. Qzef]
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[Question ID = 266][Question Description = 126_7004_SIDD_OCT22_S1_Q26]
1. 1 [Option ID = 1061]
2. 2 [Option ID = 1062]
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]



27) Select the food iterms Raving "Sathuvam" Gunarm?

A Caw'smilk
E. Pearl millet
C, Cumirseeds
L. Pepper

E haize

Choose the correct answer from the options given below
1,8, Dand Eonly
2,4 C and D only
3. A and Donly
4.E Cand Donly
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[Question ID = 267][Question Description = 127_7004_SIDD_OCT22_51_Q27]
1. 1 [Option ID = 1065]
2. 2 [Option ID = 1066]
3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]

28) Which iz the location of "Manipeoragam” among "6 Aadharangal"?

1.6 inches below the Swathitanam
2, b inches above the Swathitanam
3, 6 inches right to Swathitanarm
4. & inches left to Swathitanam
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[Question ID = 268][Question Description = 128_7004_SIDD_OCT22_51_Q28]
1. 1 [Option ID = 1069]
2. 2 [Option ID = 1070]
3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]

29) Which of the followirig hormiones is niot a "diabetogenic” hormone?

1, Glucagen

2. Growth hormone
3, Glucocorticaids
4, Parathiormone

B o enor UMD MIET eThS @05 T EIOmest
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[Question ID = 269][Question Description = 129_7004_SIDD_OCT22_51_Q29]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]
4. 4 [Option ID = 1076]

30) hatch List 1with List 1

Match thie functions of Vathiam as per the text Udal thathuvam

List | List Il

A Heart, blood wessels || Magan

B. Memory function |l Viyaran
. Facial [erve I, Kirukarar
Cx Trigeminal nerve 1Y, Koorman

Choose the correct aniswer from the optichs given below,
TA-LE=ILC-IlL D=1
2. 8- BN, C-Il, D~
3ALE-LC-LD-TV
4 A4-1LB-1,C-IN, D=l
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EhssaosuhmueT sflwmer uElenasg CarEtsb&Esah;
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S.A-INB-1LC=1,D-1V
4A-ILB-,C=I, D=1l

[Question ID = 270][Question Description = 130_7004_SIDD_0CT22_S1_Q30]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4. 4 [Option ID = 1080]

3 The concept of "immunological surveillance is developed by

1. Erlickand Burner

2, Twort-and D'Heredl e
3, Thomas and Burnet
4, Louiz pasteur

@) e e M eS| S5 60 &F TeneU Gl euelTer) sTelT (11 & (h& N &
D (THEL TGS U T

1, eriellg hoh L

2, LEeumil Lohoyh 1 Sramel e

3, gImloen oD Lirer L

4, g LUmeL T

[Question ID = 271][Question Description = 131_7004_SIDD_OCT22_S1_Q31]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

32) Which one of the following is not a factabout the properties of

exotoxin?
1. Protein
2, Heat labile
3, Action often enzymatic
4, Obtained only by cell lysis



"erE GerumCL s erfler -umnlu Bh&metom S Hmleh e1s
56U M ITETET

1. Ugsih

2. QaulilgENE mlensluslcdisnsa

3. QuTsisumar QETEWEr Qesmal L s

4 Flansa) ghuGih Gumsl o smorl_TEDa

[Question ID = 272][Question Description = 132_7004_SIDD_0CT22_S1_Q32]
1. 1 [Option ID = 1085]
2. 2 [Option ID = 1086]
3. 3 [Option ID = 1087]
4. 4 [Option ID = 1088]

33 . . : . .
) Collective resistance to 3 disease aquired in a

cormmunity/gacgraphical reglon refers to
1, Matural Immunity
2, Artificial Immunity
3, Herd Imirriunity
4, Inmate ity

2@ FanssEE U (G Qunnssnmer Gl erEFlu s55)
sTeuaUM swemDE&Es LG Eme?

1. @uihens CEIUW aTElFlL &5

2. Qswmhans Cuml eTEirlL &5

3. Fans Cemu etEiTlL | s55

4.9 GgTEMMIHES CEHET TETUL F55

[Question ID = 273][Question Description = 133_7004_SIDD_OCT22_51_Q33]
1. 1 [Option ID = 1089]
2. 2 [Option ID = 1090]
3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

34) hAatch List |with List 11
List | (Type of Bacteria) |List Il (Shape)
A Vibrio | Spherical
B. Cocq Il Corrima
. Badlli I, Flexuous spiral
Cu Spirochate [W. Rod

Choose the correct ariswer from the options given below,
T A-LE-IL,C-I,D-1W
2A8-1,B=-1C-IV. D=l
3A-ULE-ILC- W, D=
A A= B-IlC=1, D=1



Uliguwieu | 2 Ler uligwisu Il -0 QUMMS SIS,

L g el | (umse gluam eusmnes)

LI g uis) || (suig e

A, eAlLGuT

L eruGILlaseT

B =&

Il &om

C. BUE samay

. LSlem&& wish euemiigel

D. eemuUGrmEasL

V.t

ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:

1. A-1, B-HI, CHII, D=V

2ZA-0,B=,C-1¥, D=l
SA-LE-ILC=IV, D=1
4A-IV,B-1II,C-1I,D~1

[Question ID = 274][Question Description = 134_7004_SIDD_OCT22_S1_Q34]

1. 1 [Option ID = 1093]
2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]

33) Match List | with List 11

List | {(Micro Organism)

List Il (Disease)

A Mycobacterium

| Gastritis and Peptic ulcer

B. Treponema pallidum

Il. Syphilis

. Helicobacter pylori

IIl. Trachama

O Chlamydia trachomaties

I, Tuberculasis

Choose the correct ariswer from the options given below,

T A= B[ C=Il, D=1l
2 A1 B-Il C=1, D=1l
BA-NE-NL,C-1L DI
A4 8- B-IL,C-Nll, D~

uliguwieu | 2 Letr Ll igwisu ll-ml QuMmS SIS,

LI g Uil | (@mmilisEimLa )

LI g el | (@mimi)

A eniD&GsET LTS il

| Gmaulamy 196D Glulnd &

LG

SV &y
B, ClGuima o, Lerl i I. S eflsu
C. Gameiiae =T
BIDCNEHIT LINRLY Il W rsGasmnm

D. Slermudliguwsm
W rEGsmomLLg sy

IV. 1wy LT Germarfl ey

Fhs s auboueT Frlwmar uElenas CaIE6 s &yl

T.A-IV,B-1,C-Il, D=1l
2ZA-IW,B-IIl,C-1,D-1
SB.A-IVB-ILC-1,D=1l
4A-IVB-ILC-1I,D-]




[Question ID = 275][Question Description = 135_7004_SIDD_0CT22_S1_Q35]
1. 1 [Option ID = 1097]
2. 2 [Option ID = 1098]
3. 3 [Option ID = 1099]
4. 4 [Option ID = 1100]

36 :
) Given below are two statements:

Statement |: Appears and recedes rapidly - Immediate Hypersensitivity
Statement II: Appears slowly and lasts longer- Delayed hypersensitivity

I light of the above statements, choose the most appropriate answer
from the opticns given below:

1. Both Statement | and Statement 1l are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement || is incorrect

4. Statement | is incorrect but Statement Il is correct.

EC0 @\reo(h) SahmiseT QeTEHiESILL (ETemsr:

Fa M | eflemgeuns Gamarmm, s0lan Teums IDanma S -
@figul’ amamciuy Qeeredll g el g

sahml I Guossurss Camarn, Quuseuns MmmsH - 1QGeuii
gnamiiy Glearend L geil g

GE 2 6rem sahmisseartiedr @i Cinant uile,
FhGsarsubhouer Wasah GUMESSInmar LEleanas
Cainbes(hissal:

1. gmhoi | inMHmih smom il sy &l @rsorGih sflwmarans.

2. WMmmub || S fossET 56l meoramall.

3.1 smmm Fflwuimersl, sparme, || S o SeUDTarsl.

4. | S Mo SEUMTETSI. ST, || SnMm &FiflWmersl.

[Question ID = 276][Question Description = 136_7004_SIDD_OCT22_5S1_Q36]
1. 1 [Option ID = 1101]
2. 2 [Option ID = 1102]
3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]

37) Which one of the following herbs is used to cure Alopecia?

1. Citrullus col ocynthius
2. Picrorhiza kurroa

3. Polyganurm glabrum
4, Phyllanthus amarus



Ll 6T & (I eu ebrEu (DO Seme) LinE el el @er 0 T
eLnell ey erg?

1, 1 mevs Gla mEam sl Baeu

2, Useomamler gErneum

3, LmeblGaserr b Elerm gD

4, 1900 e @10 gah

[Question ID = 277][Question Description = 137_7004_SIDD_OCT22_51_Q37]
1. 1 [Option ID = 1105]
2. 2 [Option ID = 1106]
3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]

38) Match List 1wtk List 11

Match the following Botanical names with vernacular names

List | List Il
A Diolichos lablab . Kollu (Horse gram)

B. Dalichos biflorug|ll, Pachaipayaru (Green gram)

CVigrnamungo |l Avaral (Broad beans)

D.Vigna radiata IV Ulunthu (Blackgram/Chickpea)
Choose the correct answer from the options given below,
TA-ULEB=Il,C-1,D-1W

2 A-NLB-N, C-1, D=1l

3A-NLB-I, -, D=

4 8 -|I,B-I,C-1W D-l

uUllgwsy e e ulwsu -2l QuUmMbS S &:

SrauTeilus) GUILTSaNeT, HS&MESTIL eunsEl GULLITSESEL 6T
QUTRSaS.

g e | L ag e |

A, Dolichos lablab || Giameuay

B. Doliches bifforus|ll. LFanz LWy

C. Vigna mungo  |lIl. S46UEDT
D.Vigna radiata |IV. 2_¢BEE
Ehsaaramhmer sflwumar uBmns CaIhosd &saih:
TA-MNB-ILC=1,D-IV
2ZA-N,B-IV,C-1,D=1l
S.A-N,B-ILC=IV,D=]
4A-N,B-1,C-IV, D=1l

[Question ID = 278][Question Description = 138_7004_SIDD_OCT22_51_Q38]
1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4. 4 [Option ID = 1112]



39) Match List | with List 11

Match the following with vitamins and diseases caused by their
deficiencies

List | List Il

A Vitamin B2 |, Constipation

B. Witamin B& (Il Infertility
CWitamin @ |l Apthous ulcer
CuWitamin © IV Osteomyelitis

Choose the correct ariswer from the options given below,
1A= B-C-1, D=1
2 A-ILEB-IV, C=1,D-1l
2A-ILE-NC-IILD-
48 -1LB-1, C-IV, D~

uliguwsy 2 Ler LUl gwisu -gl QuUmmsS S5sS,

emeul L ifleirsaneT, gyeumnileir e mumE Sarmey gmuEih
CHEMUSEELAT GIUThHEa &,

L g ei | Lo g ety ||

A, emeul_ L 1fl6fr B2l LDEVEFT &6l

B, emeul L 1fler B6|lL 1060 (B &S etran o

C. emsur L 18lefT D |11, sumiiliL jetor

D. enyeul L iledr C IV, erend L r&E GEmul
Zh&aarUamhmer sflwmar uSlenns CaThe s &sah:
TA-ILB-N,C-1,D=1

2.A-1,B-IV,C-1,D=1l

SA-ILB=-IV,C-IIl,LD=]

4A-NI,B-ILC=IV,D=]

[Question ID = 279][Question Description = 139_7004_SIDD_OCT22_51_Q39]
1. 1 [Option ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]

40) Whilch plant gum (pisin is used as'binders to harden the tablets?

1, Babul gum

2, Gum Arakic

3, Tragacanth gum
4, Ghatti - gum



L0 &S TEaneT SWearinnds Uwer LR Eerm &6 ers?
1 supEeual L& g
2, @Gy i&s LI dr
3 Lon&E&Enhs L6
4, QeudTenaT b meTss L1 dr

[Question ID = 280][Question Description = 140_7004_SIDD_OCT22_S1_Q40]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]
3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]

41) Which plant contains the phytochemical Bryonin?

1, Azima tetracantha

2, Indigotera asplathoides
3, Corallocarpus epigasus
4, Flectranthus amboinicus

Ll emmEu mafladr (Bryonir aretrami b Geu & 1 El L mrseT
FEmanT L S&n Ul Gmeurih erg?

1, = Fnm e L TSRS

2 @t GEmaGILITT 2y aulendsmil L@

3, CETreeuTETTLay e LI Eswan

4, LiQiamas L mer e @y b G muilar sedan

[Question ID = 281][Question Description = 141_7004_SIDD_0CT22_S1_Q41]
1. 1 [Option ID = 1121]
2. 2 [Option ID = 1122]
3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

42) Which one of the following phytochemical found in cassia alata is'used in

the treatment of ingwerm?
1. Chrysapanic acid
2, Tartaric acid
3. Cuminol
4. Anethole

LI [T& ML0an T CRTanw e U (R &5 LILer L 10 Fesmn
2 FEHE G aneuwilay smaur LR D Geusl G UITaRET Wims?
1, ElanrEemummlé eyflaih
2 rmrendlé endaoh
3, @A armey
4, =i BEE M

[Question ID = 282][Question Description = 142_7004_SIDD_OCT22_51_Q42]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4. 4 [Option ID = 1128]



43) Which medicinal berb is used in the treatment of infertilit?

1, Croton tigilium

2, Celastrus paniculatus
3, Hydnocarpus laurifalia
4, Strychrios potatarum

aThE NMhS e anellans 06 (R & eeran 0L
(@ET L0 e & L6l LRSS U LR EmET

1, Croton tigilium

2, Celastrus paniculatus

3, Hydnocarpus laurifolia

4, Strychrios potatorum

[Question ID = 283][Question Description = 143_7004_SIDD_OCT22_51_Q43]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4 [Option ID = 1132]

44) hAatch List | with List 11

Match the Oil types

List | List Il

A, Dirying ail . Croton oil

B. Semidrying oil [l Caconut ol

€. Mon-drying oil JIIl. Soyabean ail
O Wegetable fats ||V, Castrol oil

Choose the correct ariswer from the options given below,
TA-ILEB-IV, C=1,D-1l
2 A-LB-1, -1V, D=1l
2A-ULEB-LC-1,D-1V
48 -LB-I,C-1,D-1V



uliguwieu | 2 Ler Uligwisu ll-ml QummsS Sl &.

E DS T 00T aTenoTEle00T ST 6T eusmSSemaTl GlUMBSE5:

L el | I NTRTATY
A @ gnmE e eT6tor GleToTL . GIBITEUTET &T600TGY60oTLL
B @anL_mlens) 2 enmEiear . . . .

ﬁil Eﬂ. B B Il G MISITLL GTE00TEN) 600TLL
ETE00T Gl ST L

' . . @ Tear
C. 3 eMDWIITS 76007 61 50071 . .
6T600T Gl 6507 L

D. BTauTé QsmiLse V. 65l emas G & anoT GletoT L

Fnssar_suhmeT Frlwmar uGlenas CEIE6sH &EFEean
1T.A-N,B-IV,C-1, D=1l
2ZA-,B-1C-1V, D=1l
SA-B-1,C-1 D-1V
4A-I,B=-ILC=1,D-IV

[Question ID = 284][Question Description = 144_7004_SIDD_0CT22_S1_Q44]
1. 1 [Option ID = 1133]
2. 2 [Option ID = 1134]
3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]

43) Witiat is the synoriym of "Seoram”?

1, Kadalai

2, Kadarpaalal
3, Kadarpasi
4, Kadambul

@i eTelT LG e (b fLnedleras wilehr Geum Glw?
1, ELaneay
2, S ML mana
3 ELhums
4, ELL

[Question ID = 285][Question Description = 145_7004_SIDD_OCT22_S1_Q45]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]
3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]

46) What is the botanical name of Thelkodukku?

1. Tectona grandis

2. Heliotropium indicum
3. Mimosa pudica

4. Tylophera indica



CoarRlsnhiEE-aler smeaugalllsy Gl ereira?
1. QLECL raurim Eymednrid 6hy
2. Qe Gum Gomidlwih Eetorig as1h
3. 10l GIOmET Lpg s
4, gL CaurmaGUImgT @eorid &

[Question ID = 286][Question Description = 146_7004_SIDD_0CT22_S1_Q46]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4 [Option ID = 1144]

47)

Given below are two statemnents:
Staterment || Kombu thaen relisves hMukutram

Staterment |l Putrd thaen causes lyam and kasam

I light of thie above statements, choose thie correct answer from the
options given below:

1, Both Statement| and Statement || are trug,

2, Both Statement| and Statement || are false.

3, Statement | [strue but Statement || is false,

4, Statement | is false but Statement Il is true,

E6L0 @ ranr(h) SaMmiseT QEThEEsIUL (BisTersar:
FaMm | Gemby GE6T (0&EMNMID CuUmsELD
Salm [l Uho Gseir 2w, &reh EauMenm o aorL msEL0Dh

GINEEY 2 676 Snmisearfler gy iuan uile), Bihdseori_suhman
Fifllwmar uBlamsg CaIHes HEEaLD:

1. b | inmmnh sho || Eresor(pih siflwumarena,

2. &M | inMHmih smoy || Eyreer(h) D SeUmTeITem e,

3. S | FUIMETSI. SLaTTa), S MM || SeUmmeaTSl,

4. S MMl | ZEUMTETSI. SLETTE, S || Flumersl,

[Question ID = 287][Question Description = 147_7004_SIDD_OCT22_51_Q47]
1. 1 [Option ID = 1145]
2. 2 [Option ID = 1146]
3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]



48 :
) Given below are two statements:

Statement | Honey and mother milk are used asgrindirg material for
the preparation of Maha weera mezhugu

Statement |; Vatha noi and Mega rogankal are cured by Maha veers
mezhiugu

Irlight of the abowve statements, choose the correct answer from the
options given below:

1, Both Statement | and Statement || are true,

2, Both Staterment | and Statement | are false,

3, Staternent | istrue but Staterment || s false,

4, Staternent | s false but Staterment |l s true,

ZE0 @pan(h salmiseT Gamhiaslul (Blsmsrsa:

Famm | insmely Goupsle) Csauh hensuliume) yemgiL|
QUITgRETFS Lwsru@E SElims

Famm |; nsmeliy GuoupSlarms suns GEMU, Clns CrmsmisaT
Bmin.

GCe 2 6T Inmmisarler oy iiuent uile,
ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:
1. o [ inmmih g mo || @oesor(eith &iflwmens,
2. s | o s oy || Elreser(hD &eUm meuTeseL.
3. s | srflumaTs. aLarmel, s |l Seummersl.
4, S Hml | HOHDTETS. SLETTe, Slmi | aflwmers,

[Question ID = 288][Question Description = 148_7004_SIDD_OCT22_S1_Q48]
1 [Option ID = 1149]
2 [Option ID = 1150]
3 [Option ID = 1151]
4 [Option ID = 1152]

A w N =

49 :
) Given below are two statements:

Staternent | Kanni izthe syrionym of kariabolam
Staternent |l: Karfabolam has Emmenagogue action

I light of the abowe statements, choose the correct answer from the
opticns given below:

1, Both Statement | and Statermeant || are true,

2, Both Statement | and Statermeant || are false,

3, Staternent | i=2true but Statement || 15 false,

4, Staterment | isfalse but Staterment [l is true,



E80 G\ sahmiser Qar@Esll [Beremer:
FaMm |; seirent] eTedTLiE ST GUTETHS 6T GeumGILIWIT,
g I sfluCumansBheG maserL_TéaE Qaliams o o,

GIOEE o 67T gammiseaflar aya iuan. uile, Bibhdsaor auhmian
Fifllwmar UElamE CaIHesHEsaLD:

1. s | InHmih smHoy || GreorGID siflumens.

2. FaMmm | M mub smoy |l Greer(bih Seummerena.

3. g | ElUImeTSl. SLamel), S MM || SeUm TS,

4. s MMl | SQUMTETSL. SLaTTel), S mm || eflwmears,

[Question ID = 289][Question Description = 149_7004_SIDD_OCT22_51_Q49]
1. 1 [Option ID = 1153]
2. 2 [Option ID = 1154]
3. 3 [Option ID = 1155]
4. 4 [Option ID = 1156]

>0) hAatch List | with List 11
List | (Pancha pootham) |List Il (Uparasam)
A, Piruthivi |, Muttal
B. Appu II. Abragarm
. Theyu Il Anrekedhi
Cn Wayu IV Bimilai

Choose the correct ariswer from the options given below,
TA-ILB-1,C-I,D-1W
281, B=l,C-IV, D=1l
3A-INEB-LC=Il, D=
4.8-1,B-1 -1V, D=l

Uliguwieu | 2 Ler Uligwisu ll-3l QUMD S SIS,

LI g el | (LEssLLsIn)| L guisd | (@ LireLh)
A Nmsal I, QoL e

B, & I i Nyesih

C. By Il 2yebrGarGLE)

D. &y IV, sluslemerr

ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:
TA-ILB=,C=1, D-IV
2ZA-1LB-1,C-I, D=1l
. A-IVB-IIl,C-1I,D=]
4A-0,B-,C-I, D=1l

[Question ID = 290][Question Description = 150_7004_SIDD_0CT22_S1_Q50]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
4. 4 [Option ID = 1160]



51)

Match carrectly from List| and List || regarding it total number

List | (Action) List Il (Plant)
A, Restorative | &kkragaram
B. Anodyrie Il Kadarpaasi

. Cardiac stimulant ||, Karisalarkanni

Cn Hepatic tonic 1%, Kuppal meni

Choose the correct ariswer from the options given below,

TA-LE=I,C-l, D=1V
2 A B-1 C-IV, D=1l
A B C-1, D=1
48 - EB-IIl C-1, -1l

ulilgwsy |2 e uligwsu -zl QuUmms 1S,

L g uiel | (GlF em s )

U g uish If (pneblesis)

A, @emem i) . &S &EgEmrh
Bo=miwgL 58 IL &M urs
C. sinrs QeuliLgnaor el |1l &5l mmis oo

D. FrsEsmml

V. @sliemu Gueor]

Ehsaaramhmer sflwumar uBmns CaIhosd &saih:

T.A-LB-1,C=1,D-IV
2A-0,B=1,C=1V, D=1l
sA-ILB-I,C-1, D=l
4 A-IV,B-1II,C-1,D-1l

[Question ID = 291][Question Description = 151_7004_SIDD_OCT22_S1_Q51]

1. 1 [Option ID = 1161]
2. 2 [Option ID = 1162]
3. 3 [Option ID = 1163]
4. 4 [Option ID = 1164]

52)

1. Astringent

2. Antispasmodic
3. Antihelmintic
4. Aphrodisiac

FrIEer G Fliemne earer?
1, SOl
2, @Fleysm
3 @D uneusmm
4, &0 e LIHEE

[Question ID = 292][Question Description = 152_7004_SIDD_OCT22_51_Q52]

1. 1 [Option ID = 1165]
2. 2 [Option ID = 1166]
3. 3 [Option ID = 1167]

What is the action of sangu ?




4. 4 [Option ID = 1168]

33) Match the following traditional Measurements with Metric Measurements

Match List | with List 11

List | List 1l

A1 Tola I. 25 millimeter
B. 1 Angulam |I.-4.546 liters
C. 1 Gallan l1.930 g

0.1 Ser V116632 g

Choose the correct answer from the options given below:
TA-IV,B=I,C-1ll,D-1l
2A-IV,B=-ILC-Il, D=1
3.A-mM,B=LC-1,D=v
4. A-IV,B-I,C-ILD=-1I

urrbuflu serenaisEnLesT, Gl flé SjeTanal-Sanemid
QumTmsSES.

uliguwisy le Ler Ul iguwisu -l QUMBHSSIS.

L g el | AT

A 1 Gsmaum 125 WllebediuS Ly
B. 1 2ymugeuihlll. 4. 546 a5l L 17
C.1&meuedt |l 930 Bigmih
D.1G=g IV, 11.6632 @gmih
FhGsarsubouet sflwumear uElanas CarnelsE &EaEan;
1.A-IV,B=I,C-1I,D-1

ZA-IV,B-1,C-lIl,D=1

3.A-N,B=1,C-1, D~

4A-IV,B-1,C-1,D=1I

[Question ID = 293][Question Description = 153_7004_SIDD_OCT22_S1_Q53]
1. 1 [Option ID = 1169]
2. 2 [Option ID = 1170]
3. 3 [Option ID = 1171]
4. 4 [Option ID = 1172]



>4) Match List | with List 11

Match the following medicines and the disease

List | List 1l

A Thanga Chenduram ||, Pandu

B. Aya Cheriduram Il Moolapini koottarm
. Thalaga Errai Il Rajapil avai

[ Pachchal Enrvai I%. Suvasakasam

Choose the correct ariswer from the options given below,
T A= B-ILC-IW, D=
28 -ILE=IlLC-IW, D=
3A-ILE-1LC-INV D=1l
48 -1 EB-1,C-1,D-l

uliguwieu | 2 Letr Ll igwisu ll-uflement s QUIN(HS S eyLD.

BnsauL I(HESSaaTWD Inmmib GHETLSanaTW LD
QUTMS Zis:

L g ei | LI g s |l

A W& GlEhaTT I. Lirrennr(y)

B & Qemsgmh 1. eepsudi L Stemfl&Eem L 1D
C. SManEEEImLL| 1. riregL Samamey

D. LSS eT600T Gieo0T1i ||V, SEeUTESTEFLD

Shs s sumrueT sflumsr uElanasg CarEelsE EEaD:
1.A-ILB=-ILC=-IV, D=1
2ZA-N,B-ILC=IV,D=]
S.A-0L,B=,C=-I, D=1l
4A-IWB-I,C-II,D=1l

[Question ID = 294][Question Description = 154_7004_SIDD_OCT22_S1_Q54]
1. 1 [Option ID = 1173]
2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]



55) Given below are two staternents:
Staterment | 'Kaya Moosambara Fathiral' s giverin a dose of 325mg
to 650m g relieves dysmenorrhoea

Staterment |l The fruit pulp of coleoymith is an irgredient of 'Kalingathi
Thylam'

Irlight of thie above statements, choose thie correct answer from the
options given below:

1, Both Statement| and Statement || are true,

2, Both Statement| and Statement || are false.

3, Statement | is true but Statement || |s false,

4, Statemnent | 13 false but Statement I is true,

ZE610 @ ranr(h SaMmiseT Qerhasliul (Bsmersr:

oMM | smusnsrhur InrsSany - 325 & anssu 650 WS
a2 U QIETETET h&5EE 6 amamib suullhmeauel Emib

FaMm [ whHmiGsbnl 1§ U0FFams SEHmsTE ensa s
CEmD FTEE

GumsssmL ahmysertlem 2 Ciusme ullsh, 6L
Qarhsslul GersT eflwmar el Gsra Geuis:
LSmMmi inmmibh Faho il L@ G ook 2 aersmin.

S 00 OMHmND S Moy || &6umTeTanaLl.

. Fa MMl D EEamLNu TS, SLamTal, || o Seummearsl.
 Fa DM | SEUMTETS!. SLaTmel, S || o aranio,

[ p—"

B S

[Question ID = 295][Question Description = 155_7004_SIDD_0CT22_S1_Q55]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

>6) Which of the following drug is an ingredient of 'Panjakolam’ according to

Sidha classical text?
1. Cumin Seed
2. Cardamom
3. Mustard
4. Cloves



6155 MBS sIe Braveee @ UL LU Gerer
LiehFREMaLh’ erebrD & 7@ Fo (B rphEe) & he e
& b F & BFHID?

1, Egsin

2, ganlh

2 &0

4 By

[Question ID = 296][Question Description = 156_7004_SIDD_OCT22_S1_Q56]
1. 1 [Option ID = 1181]
2. 2 [Option ID = 1182]
3. 3 [Option ID = 1183]
4. 4 [Option ID = 1184]

37 The abbreviation 'ic' in @ prescription denotes which of the following

meaninig?
1, Daily marning
2, Between meals
3, After meals
4, Before meals

In@EBE FLQ60 sTpS U@ 'ic erebrm @mluiE)
Epssaraumhnls gssmars @nilEsin?

1. 2EUGIGUIT(E HITET SHTemEULLLD

2. o qooTel & (5 BB el

3. o eorau &L LImiE

4, O GOTEYS (S (LDETLY

[Question ID = 297][Question Description = 157_7004_SIDD_0CT22_S1_Q57]
1. 1 [Option ID = 1185]
2. 2 [Option ID = 1186]
3. 3 [Option ID = 1187]
4. 4 [Option ID = 1188]

>8) Whitch one of the following process isused in the preparation of

‘Magarasa Chendooram'?
1, Sublimation process
2, Frying process
3, Grindirig process
4, Manal hMaraivu process

'Br&EIF GEbargin swrflid Eih&ssedhr o ks
QElignenn uwer LRSS LR EmET

1, UG Loeamm

2, BUgyLIL aRan[D

3. @yenT LY Qhamnm

4, LEHITaY L&Y (Lo

[Question ID = 298][Question Description = 158_7004_SIDD_OCT22_51_Q58]
1. 1 [Option ID = 1189]



2. 2 [Option ID = 1190]
3. 3 [Option ID = 1191]
4. 4 [Option ID = 1192]

>9) Choose the correctingradients of "Thirimoorthy pathangam” from the

given optians.
1. VWeeram, Pooram, Gandhiagarm
2. Weeram, Vellal Padanam, Rasam
3, Weeram, Pooram, Vellaim Padanam
4, Pooram Gandhiagam, Rasam

Enssar_auhmneT "EiflenisE usnssEa) CerssliuiEih
FlUTaT & (5 IDEHS FTHESaNETs 65Th6 s 0.

1. 6mid, Wwih, shssh

2. efipih, QieusTamem Ll LTl remorih, @ reth

3. oD, Ly, GieueTamaTll LT iTeoorih

4. Lurih sh&sssD, @ usih

[Question ID = 299][Question Description = 159_7004_SIDD_0CT22_S1_Q59]
1. 1 [Option ID = 1193]
2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]

60) Withiich of the followinig "Padanam’ is used in thie preparation of 'Virana

Sanjeevi Thylam'?
1, Aritharam
2, Manosilal
3, Mirutharsingi
4 Vellal Padaram

‘elpesesEall -ammsEEc) Coisas(BD LimL manrth ersi?
1. @flgmin
2. InGaTTEamE
3. s TEmE
4, QIEUETEm ST LML Mo LD

[Question ID = 300][Question Description = 160_7004_SIDD_OCT22_S1_Q60]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]



61) Match List | with List 11

List | List II
A, MNaangam Murai Kaaichal || Kuruthi thathu

B. Karithiathia suram I, Kezhuppu thathu

C, Mooritram Mural suram |l Rasa thathu
DwSutha suram 1, Erbua thathu
Choose the correct ariswer from the options given below,
1A= E-IL, C=I, D=
2 A B =1L D=
3A-LE-NC-L D=
4.8 -l B-Il, C-IV, D=

ulilgwsy e Ler uligwsu -l QuUmmsSSeyld

g e | L g sl ||

A, BT WRenm SmiiEF || &mES sra
B.E&ESS SO Il QEmupliL| Ss
C. pInefrimih (hemn S . 0 sral

D. &5 @G V. eT6bTY SIT&E

Ehsaaramhmer sflwumar uBmns CaIhosd &saih:
T.A-IN,B=Ill,C-1l, D=1
2ZA-1IL,B=I,C-1Il,D=]
3A-1LB-1I,C=Il,D- IV
4A-N,B=-ILC=IV,D=]

[Question ID = 301][Question Description = 161_7004_SIDD_OCT22_S1_Q61]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

62)  \jatch List | wiith List 11
List | List 1l
A Vali Iraippu |. Thamaraga swasam
B. lya lraippu Il Arpa swasam
. fyavall Iraippu |l kMakia swasam
. dukeutra lraippu IV, Vichinna swasam

Chonse the correct answer fram the options given below,
T, el B~ T =]
2 ALEB-1 C-1W, D=l
3A-LE-ILC-V, D=l
A48 -1LB-1,C-lI,D-1V



Uliguieu | 2Lt Uligwisu ll-3l QUMmS S ayLD.

L g e | L g sy |l
A, cuerfl @emmiy l. H078 HaunaED
B. 2wl @emriy Il. eyl sauTe

C. mwiaief] @emmliu |l In&T Seurasih

D. GmHn Eengly|iV. eil&Fldrar seursih
ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:
TA-LB-1I,C-1V, D=1

2ZA-0,B=1,C=-I, D=1l

.A-LB-I,C=-I, D=1l

4A-0,B=-1,C=1l, D~V

[Question ID = 302][Question Description = 162_7004_SIDD_0CT22_S1_Q62]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

63) According to the taxt "MNoi Maadal Moi Mudal Maadal Thiratu" Part |,
arrange thie following statementsin order

A From Vitchepa sakthi, Aagayam Saptha than mathirai got originated
B, Fram the abiowve, Ruba than mathiral - Theyw, gets originated

C, From thie above, Sparisa than mathirai - Vayu gets originated

D, Fram the above karitha than miathiral - Prithivi gets originated

E. Fram the above, Rasa than mathiral - Appu gets originated

Choose the correct answer from the aptions given below
TEAECD
2,08 CDE
3ACEBED
4ED CE A



EHRMUETLA CEML (NG BT LUTELD | &ESEsE e 1,
Epaair L s hosaner el mer (nanm L
suflema L R&a s

A el Gy s&EWITpHs &1 & ST 0mSaE e meEiw
& & MU g medT il L &l

B, @& 6e8hEs emL SHelrio mSEanru mEL G B8 meirih

C, mellimbe G flE el mg G an T meE
EUTTLL (Ras ey (1

D, SFIeblpBS S &er 0 Mg EHan I e
N pEiel Casmetouih

E, siS et mEBs IF SErnnsS e gl meElw =y S5 medrm 0

S haair euboudr Fflunar uEanes CHIHCSH & D,
1.6 AE CD
2ABCDE
3. ACEBED
4EDCEA

[Question ID = 303][Question Description = 163_7004_SIDD_OCT22_S1_Q63]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4 [Option ID = 1212]

64) Atwhat age does Appu get amalgamated with Theyu?

1,30
2,40
3,60
4,70

S UL GU et &l (R e Fwil(h D 6L &) areirar 7
1,30
2,40
3 60
4,70

[Question ID = 304][Question Description = 164_7004_SIDD_0CT22_S1_Qé64]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

63) Whien does death occur, if 3 person's shadow g shaking onsitting?

1, Immediata
2, B days
3,15 days
4.1 month



STEr 2 U SmIhEdheEln CLIng sebr mlDey 2y, 1q &7 e
gewerih et IS Lng mlsiphn?

1, @ (Belr

2.6 BTG

3,15 BT SGET

4.1 [nmgin

[Question ID = 305][Question Description = 165_7004_SIDD_OCT22_S1_Q65]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

66) Which of the following bulai Mol is notincurable type?

1, Kuthia hulai
2, Maral hMulai
3, Kuzhi hMulal
4, Savwvy kulai

&\ DF e Lau e & [m& (DemeT GBI BIms suansaniL &
SFTE&HST

1. @& (Lheser

2, GUDET (LN

3. @ apemer

4, FEUE) (LNEnET

[Question ID = 306][Question Description = 166_7004_SIDD_0CT22_S1_Q66]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]

67 ; ) ]
) Which "lrumal” ocours in mothiers during Post Partum?

1, Marithara [rumal
2, lzhuppu Irumal
3, Sudar lrumal

4, Kuruthi rumial

Lilgmeser @ LhmUiler &l sughih SapLoey Emimll &7
1, 0 RETH (&) ahL ey
2, Fopuil G apLoed
3, &L @ (ho&y
4, &BE @aHua

[Question ID = 307][Question Description = 167_7004_SIDD_OCT22_S1_Q67]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]



68) Which of the followirig is called "Uyiranal"?

1, Vaatha Maadi
2, Bitha Maadi
3. Kabia Maad
4, Bootha Maadi

FhG e aumoueT srst "2 uSlyarel - sreh oy
ampsslLGEarme?

1. 6UTS BT

2. Vg5 By

3, SU Bmg

4, Lb5 BITIY

[Question ID = 308][Question Description = 168_7004_SIDD_OCT22_51_Q68]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

69) Match List 1with List 11
List | List 11

A Pasu near mana neer |15 years

B. Kattralal mania neer |l 3 years

. Lppu rieer Il 10 years

Cx Thooimal neer 1", 15 days

Choose the correct ariswer from the options given below,
TA-LEB-I, -1V D=1l
2, 8-, B=IC- 1V, D=1l
A1 EB-1L,C-1,D=I
A AL B-LC-IW, D=

Uliguieu | 2 Letr uligwisu ll-3d Qumps Sl &.

L el L gured il

A L1 RIT ID60T BT L. 15 =y, 600 (B) & 6T
B, sMmmeni et Il 3 2 a6 SeT
C.o iy By 1. 10 2 007 (Bl & 6iT
0. smiienin BJ V. 15 BITL&eT
ZEns s suhmeT Frlwmar uSlenas CETE6sH EEaD;
1.A-1LB-1],C=1V, D=1

2A-1L,B-1LC-1, D=1l

3A-IWB-ILC-1,D=1

4A-0LB=-I,C=IV,D=]

[Question ID = 309][Question Description = 169_7004_SIDD_0CT22_S1_Q69]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]



4. 4 [Option ID = 1236]

70) hatch List |with List 11
List | List Il
A Toddy like Vai neer . Ruthra waayu rogan
B. Ghiee like Val neer I, Waatha Moolam

(. Peacock feature like coloured vai naer|lll. Pitha Moolam

Cn Wai meer expels in Spherical shape: |1V, Vatha suram

Choose the correct ariswer from the options given below,
TA-LEB=IL,C-NL D=1V
2A-1LEB-NLC-1,D-1V
AL B-I, T D -1
4 8- B-IIl,C-1, D]

ulilgwsy e Ler uligwsu -l QuUmmsseyld

L g el | LI iU gl 1

A eumiBy saramerISumeblrase l. (5T eumuy Grmsin
B, sumiFy GEUemw Cumshigmsse) Il gumEeLneuLn
C.eumiubr nulleflime sugeoorinmeorel (1L LS saneuDh

D. eumiiby 2 @meoorenrwimil eflg0BESma IV, aumg syl

Zhssarabhmer sflwumer uBomns CaIhosd &aah:
T.A-LB-1,C=1l,D-IV
2ZA-1L,B=IILC=I,D-IV
3A-1LB-IV,C-1,D=1
4A-IWB-1ll,C-1l, D=1

[Question ID = 310][Question Description = 170_7004_SIDD_OCT22_51_Q70]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

A Which of the following type of water cures 'Thavalal Sorf"

1. Kinatru neer (Well water)

2. Sutha neer (Pure water)

3, Aalangati neer (Hail stones)
4, Dew drops (Pani neer)

EhE s _auMmET SeuameTs GEmhlenu hEEh B e
1. Bleoormu By
2. 55 B
3. syeumist g B
4, Ligofl B

[Question ID = 311][Question Description = 171_7004_SIDD_OCT22_S1_Q71]
1. 1 [Option ID = 1241]



2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

72 : . A g ;
) Which of the following "Thirithoda samanaporul” is used to neutralize the

kutram of Paruppu (Dhal) varieties?
1. Dry ginger
2. Asafoetida
3. Cuminseeds

4, Cardamom

L@h L sueng:gerebr @ik sEemnan Ha e LG
EflEaTL FnE U MmaTHar as?

1, F&EE

2, ST D

3, Egsmd

4, greuih

[Question ID = 312][Question Description = 172_7004_SIDD_0CT22_S1_Q72]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

73) Mame of the village situated in Paalai Milam

1, Kudikal
2, Kurumbu
3, Perur

4, Paskarm

LI mamey BIangE 60 21 an N R D6 TaEET 6Teiew m
aeno&E LR E me?

1, (&1 FEET

2 Gy

3, GBLIemT

4, LUm&sLD

[Question ID = 313][Question Description = 173_7004_SIDD_OCT22_51_Q73]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]



74) What is the required sleeping time for appropriate age?

Match List | with List 11

List | List 11
A, 5to 15 years I.-8 hours
B. 16 to 30 years II. 6 hours

C. Above 30 years and up to 50 years [lll. 7 hours

D. Aged above 50 years IV. 8 to 10 hours

Cheose the correct answer from the options given below:
TA-LB-1l,C-0I,D-1V
2A-1,B=1,C=-V, D=1l
3.A-ILB-IV,C-1,D-]l
4. A-IV,B-II,C-1,D-1I

almsCaML srmEGLlh GRImEaeT QUThsas.

Uliguieu | 2 Lt Uligwisu Il &3 QUM SHeyLd

L el | LI Qe I
A5 (0S6) 15 QWIS GUEDT I. 8 10evof] GmTD
B. 16 (0580 30 GUIIS! suanT 1. 6 (neoafl Gmirth

.30%u 5@ Guobul (B 50 eu g
& _ WSi5E COBLILE He Il 7 wneoofl GwFLD
QUEMT

z 5 ; IV. 8 @psseh 10 1nesafl
D. 50 alus&G Gmmul Gum '
515G L0 U] Qe

FhG s suhoueT sflwumar uElanas CarhelsE &EaEen;
T.A-LB-1l,C=1ll,D- IV
2A-1,B=1,C=I, D=1l
L.A-NI,B-IV,C-1,D=1]
4 A-IVB-Il,C-1l,D=]

[Question ID = 314][Question Description = 174_7004_SIDD_OCT22_S1_Q74]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]



75) Recrder the following greens that cure Vatham, Pitham, Kabam and

Thrithoda disease respectively,
A Vallai keerai

B. Thoothulai keerai

C. Siru keerai

D. Sanakki keerai

Choose the correct answer from the options given below:,
1.ACDB
2.CDEBA
3.ABCD
4D0,8.AC

FihEsEramh Sanrsenar (enmCw ursth, Llssih, suL,
giflcsmL CrmlisameTl CUTHELL EanrmaneT
aflemsliLuGsss,

A, quetemeTs Semg

B, snsGausamers Eang
C. A\my Bemir

D. ErsoorTS S Sy

Fhs s suhmeT Frlwmar uSlenas CETE6SH EEaD;
1.0 G B, B
2C 0 B A
53A8CD
4 D,B.A C

[Question ID = 315][Question Description = 175_7004_SIDD_0CT22_S1_Q75]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]



76 .
) Given below are two statemnents:

Character of handscape in selection of House construction
Statement | East, Morth lowered and west, south raised,
Staterngnt |1 West lowered anid Marth raiged,

i light of thie above statements, choose the correct answer fram the
options given below:

1, Both Statement | and Statement | are trug,

2, Both Statement| and Statement || are false.

3, Statement | [strue but Statement || is false,

4, statement | is'false but Statement Il is true,

E60 @ reor(h) sabhmiseT QErhiEsUul (Bsmerear.
il (R nanets Copalle Linss Cauamora i @ eudEsamrd

Fammi | inanarulld B\ 0&EE, sulSE STibns Cuhalh
Qsheh 2 WiEs QHSse) CausmEib,

s (I: ngnerulldr NG STDHS), QUL &G 2 WTHS!
@& 56 Geusim(hih,

Ginmssom & MomsertleT gy Ciusme e, E6L0n
GamEesliul Glarer eflwmea ellsn_amw Gsra Glelis:
1. sl | inh o smho sy slu @raorGith s,
2. shm | inhminh smhm sl Ereor(hih Haim.
3. gaMm | Seum. SLermsy, Sabm |l &,
4 gamm | Fifl. 2Leorme, Sai o |l Ssuml.

[Question ID = 316][Question Description = 176_7004_SIDD_OCT22_S1_Q76]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]



7 Match List | with List 11

List | List Il
A Dielusion | Indulging in sterea typic thoughts due to anxiety
B.

P I, Having false belief
Halluciration d

. [llusion Il Having thought about a really nor existing thirig
) . I/, Perception abnormalities due to non oriented
O Obsession
thoughts

Choose the correct aniswer from the options given below,
TAILEB-IILC-IW, D~
2, A-ILE-1,C-1V,D-Il
3A-IVE-IL,C-1, D=1
A8 -1 B- IV, C=I, D=l

uliguwisu | 2 Ler Uligwsu ll-l QUMmSSeyLd

L el | L g

| D6 2N EFHEHI6 STTaoTInNS

A sUiGiustoTeooT  |eTUIGUTUDSND 28T FlhEememullel & eorem e
FHRUG S8 & CismaTeur

B. @e0QLImgneT . . . . .
Il 2_gooreminwihmeuhenD BLRISTELD

STLE)

C.InTRLESEE) Il @eleuns spap GlUmImenerULmH ) nem&is)
D oo el GTEONTENOT LD Gl& Memal & mE L0

r* @fEU . V. eTeshieniTa Elainsl sarflehr Hgemrinns
ﬁ‘lmgj. a‘m@uﬂ-w Nufsioms nmouEEE o iy

E\E5 5

Fhssau_aumhoar sflumar uElamas CarhelsE &EaEan,
T.A-I,B=ILC=IV, D=1
2ZA-N,B=-1,C-IV, D=1l
3JA-IWB-ILC-1,D=1
4 A-1,B-IV,C-1l,D=1

[Question ID = 317][Question Description = 177_7004_SIDD_OCT22_51_Q77]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

78) At what age, Temporary Canine teeth are erupted?

1. 16" Month
2. 12% Month
2. 18" Month
4. 15" Month



&5 el & 0 e (B a7 U LTS (B mebT (18 Sw L LI &1L 5
erepTéuT?

1, 16Eu gl 1nm&Lh

2. 128ug [DmgLh

3. 186ug OmgLh

4, 156ugE InmSLD

[Question ID = 318][Question Description = 178_7004_SIDD_0CT22_S1_Q78]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

79) Which one of the follewing is used as anti-dote for Mirudharsingi

poisoning?
1. Munnai ver pattai
2. Erukku ver patiai
3. Pungam ver pattai
4. Karuvelam ver pattai

FihssauL ahs Ul msrrEn® sersunnsl-he
suomsUUGEnS?

1. (netmemen Caum LIL &L

2. eTR&SE Gaury LI emL

3. Umisih Geug Ll ame

4, HERGEUeULD Gaumiu smi

[Question ID = 319][Question Description = 179_7004_SIDD_OCT22_51_Q79]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

80) Iriindia, Rigor mortis begiris

1.1-2 hours
2,3-4 hours
3.1-3 hours
4, Mone of the above

@asEwmalisy SemallsmmiiLg seremin Qs migGLh
G/

1.1-2 ngonf]

2. 3-4 LnswT]

3. 1-3 Lnevai]

4, GunMammiul srsgyh @eueney

[Question ID = 320][Question Description = 180_7004_SIDD_0CT22_S1_Q80]
1. 1 [Option ID = 1277]



2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

1 ;
81) Given below are two statements:

Staternent | Anabrasion is 2 destruction of the epidermis
Staternent |l Contusion 5 an effusion of blood into the skin |ayers

Irlight of the above statements, choose the correct answer from the
options given below:

1. Both Statement| and Statement |l are true,

2, Both Statement | and Statement || are false.

3, Statement | s true but Statement || is false,

4, Staternent | is false but Statement I i trug,

ZE0 @ran(h salmiseT Gemhaslu L (Blsmsrsa:

Famm | Cumelletr sl S 10 (BIh Gleuerlli 19 gr& @D
mlemey Fmulc | erari .

Fnmm I Casmedlstr @ LiuEEuld) &ms Csssih
STar L& mE @mEssl ([{ srar L.

GumsenL saMoysetler oy Ciuem ulld, G
GarEssiul Glemsr eflwmer ellsnemw Csral Glelis:
1. sabhm | nhmnh sabo || @ reor(EiD o 6ren LD WITaTS!.
2. s | inmond sshoy -0 Seum meTEl.
3. MM | D eeTem IO WITeNTS!, SLEmiTal, Saio || Seummarsl.
4 FHm | SEUMFTETS, SLETTE), SaHo |l 9 6uorel) LOWI TEITS!.

[Question ID = 321][Question Description = 181_7004_SIDD_OCT22_S1_Q81]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

82 /
) Whier was coroner law implemented?

1,1963
21871
3,1954
4,1940

STh&E 2Lamh SErmary FULD FanLhanml UESsUUC L ST
1. 1963
2,187
3. 15954
4, 15840

[Question ID = 322][Question Description = 182_7004_SIDD_OCT22_51_Q82]
1. 1 [Option ID = 1285]



2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

83) Select the correct types of finger prints.

1. Loop, Circle, Compasite, Rectangle
2, Archy, Loop, Whirl, Composite

3, Linear, Square, Cirlce, Owval

4, Long lingar, Curve, Straight, Arch

Flwmer el gan (Sran s cuenSE ST S5 IHe S SEey L0,
1, 8l Ul LD, SIMEUTEFL, G oeuausn
2, 20,05, sl euaneTay, Geufen, sMmELUmE L
3, eBeurlwi, Eaih, eul b, BedTeul L h
4, qorrril el T, suemeney, GBI, oL id

[Question ID = 323][Question Description = 183_7004_SIDD_0CT22_S1_Q83]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

84) Which one of the following juice is given with Abraga parpam for Scorpien

bite?
1. Kallaal juice
2. Kaiyaan juice
3. Erukkilai juice
4. Uththamani juice

(BEET H19 Behs & U rs uhusans BDSsSEar L ahs
&I L 6T U Ol s G euafor(hl 1h ?

1, EEVE TR & Tl

2, @G TEhT &

3 oRSEE aneud oo

4, o Fgminant] o moy

[Question ID = 324][Question Description = 184_7004_SIDD_OCT22_S1_Q84]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

85)

Irstarvation, following organs are reduced irsize arid weight except?
1, Kidnay
2, Brain
3, Liver
4, Spleen



Ehssar 20 2 MiliEmu el MM ersLeuT 2 MiILSEHID
UL 10 &nfl& Fmaume) s(pms sTanl Gamia smeoriiubin, .
1. Flmibrsin
2. BLOEDET
3. seuelgel
4, \ngsireml el

[Question ID = 325][Question Description = 185_7004_SIDD_0CT22_S1_Q85]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

86)  \hatis Indian Penal Code section for Rape?

1, IRC 375
2, IRC 351
3 IRC3ETT
4 |pC 312

&y elr Ly 18 & S 1 @) RE L sedor Leaerrd &L L fley
ETEBTEuT 7

1, @A GsT 375

2 @ACET 361

3 @ACET 377

4 @NGET 312

[Question ID = 326][Question Description = 186_7004_SIDD_OCT22_51_Q86]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

87) Miatch List | with List 11
List | List 11
A Mual Mei |, Meer adaippu
B. Vallaral el I, Kuruthi azhal Mol
C. Madhulai Poo Mei Il Mook adaippu Mo
DuSagadewi Mei 1%, laippu Mol

Choose the correct ariswer from the optionzs given below,
T A-LE-ILC-l, D=1V
2 A1 B-NIl.C=1, D=
3 A-LEB-IV, C-IL D=1
481, B-,C-IV, D]



uliguwieu | 2 Ler Uligwisu ll-3l QUMmS S ey

L g el | LIl g g |l

A, (UOWISD QB I. BT emL iy

B, sucbeumenT QEL |l GUEEIL06) Giimil
C. inmEemeariLy QWi enssem L Gmmul
D. #5856 Gl IV, @ememiiL G
Ehssar_suhmueT sflwmar uElenss CarhtsH&sah
T.A-1LB-1,C=1l, D-IV

2ZA-IWV,B-IlIl,C-1I,D=]

.A-LB-IV,C-1I,D=1l

4A-0,B=-N,C=IV,D=]

[Question ID = 327][Question Description = 187_7004_SIDD_0CT22_S1_Q87]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

88) hAatch List |with List 11
List | List Il
A Menorrhagia like bleeding |, Kadugarnmal
B. Hernaternesis I, Kalluthari Amimai
C.Scanity uringe with hematuria 1. Panaimugari Ammal
L. Continuous and numerous diarrhea |V, Varaguthari Ammal

Choose the correct aniswer from the options given below,
TA-N BN, S, D~
2, A-1B~lll,C-11,D- 1V
AN BN, C-IL D~
48 - B-, =1, D1l

ulilgwsy e LT ulnwsy -2l QUMBS S S.

L g el | L igugi il
ASRIIA RS0 |, s

B, aumullaniieimn HEE GsmL g Il &ssuasil @ihanin
C. B mbT smpmE &S WL g 11 Lemenranasifl
Qeuaflumssy o NG

D. @enL el sansSarn sdlsd ||V aur@ sl &hen

Fns s suhmeT Frlwmar uGlenas CETE6SMH &EFHaD:
1T.A-IW,B=1ll,C-1l, D=1
2ZA-1L,B-1ILC-N D=1V
3A-INMB-ILC-1Il D=
4A-Il,BE-I,C-], D=1l

[Question ID = 328][Question Description = 188_7004_SIDD_0CT22_S1_Q88]
1. 1 [Option ID = 1309]



2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

89) "Kalaikadu parpam” is indicated forwhich of the follewing tvpes of

"keel wayu'?
1. Wall iyva keelvay
2, Muklsutra keelvayu
3, Azhal keelvayu
4, Azhial iva keelvayuy

FEEuSEGETEH ubuh Besumy CETUIlET ahs U5 E
FaMULLC (BleTemsT

1. suarflE2us Eauaumiy

2. (D& EGH M BeusumiL

3. 241060 Bebeumu

4, 2ynebEu Eevaumuy

[Question ID = 329][Question Description = 189_7004_SIDD_0CT22_S1_Q89]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

90) Which of the following gets cured by Palmleaf (Panai visiri)?

1. Gunman (Peptic ulcer)

2. Suval inmai (Tastelessness)
3. Viyarvai (Sweating)

4, Thalai sutral (Giddiness)

Liemaar sl E) ol wiledr asminmmay e 1o maslh Smml ars?
1, @@eiT 01D
2, gremey Wil ehremiLn
3, gl fremay
4, GEaG MMeD

[Question ID = 330][Question Description = 190_7004_SIDD_0CT22_S1_Q90]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]



on Wiich of thie followirg is the type of 'Peruvayiry’ that has the clinical

features of exessive intake of food, suffusion of eyves, polyures,
diarrhoes, hepatormegaly and partial swelling of the body parts?
1, Gunima Peruvayiru
2. Manjal Peruwvayirt
3, Manneeral Peruvayiry
4, Aamri Peruvayiru

o aorey WOHEE L mE o arane, Sarsafla G &5 s
ES W e §o Banh e &0 S5, Fred 6 LdmS S
QT CL auRGE), |6 (DD DL affuasT 06 g
&1 Lfley 0L (R efuesgsen erebram (b @l e hig e
D@L G LRE LT M Gu s aT a7

1, @ebrin ) G Lirmey oy

2. 0EhEET & LI (mEu Wl

3, nétorenol Tew Gl LI ah&y Wil o

4, L @anin G Lghes sl m

[Question ID = 331][Question Description = 191_7004_SIDD_OCT22_S1_Q91]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

92)

Rapid pulse, reddish discolouration of penis and waking up startled
from sleep are the features of which type of Pilta disease?

1, Wikara Pitham

2, Marni Pitham

3, Thudi Pitham

4, Virana Pitham

B WL LI S8 &0 5560, 2, ame il Flaugsas,
HR&EE LR sicaunsad - e bs Udss Gnmudler
@ [l eoT LD M D

1. eflEny UEsih

2, cughran] LN&ss10

3 519 YHsh

4, gl rasor Ll &gih

[Question ID = 332][Question Description = 192_7004_SIDD_OCT22_51_Q92]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]



3 ; ;
93) Choose the incorrect statements abiout the treatment of Pery Vayiry

e

A For inducing diarrhea and diuresis, Sanjeevi Mathirai iz
administerad with laikkali leaf juice

B, Cows urine with kadukkal soaked in, can be filtered and given at
early morning 5" o olock

C, For Wali Peruvayiru, Avanaga parpam in Mother's milk ta be given

D, For Azhal peruvayiry, Thanga chieridhooram in Cow's milk t be
given

E. For lya Peruvayiry, Kaantha chendhooram is administered with
Thulasi leaf juice

Choose the correct anzwer from the aptions given below,
1. B and € only,
2, & and B only,
3, Cand E only.
4, 4 and Doonly,

F155 mSsaUD (QUNTS) LSS5SSS6T LY, Gugmauuilo
CHMLUESTST INHESSIISEI Saummaralhenm
GCainhes(kissan

A sdlF#sa whHmib FrOUGENEG Fe&Eal TS araniL
@yemevssater] Ermailsh suomiseumh

B. UsBIiel g6 QUBEASH SSTW 2NNl Sl 6119 &5
EITEMEY 5 [DenT &5 STeumin

C. auat] QUi CEmUlsE HUGTS UDUSEMS
STLLmells) sayh

D. o6l QU CETLUSE SREFCFHETTSHMS
usthumellsy sgaumih

E suliGumauuilo GErlsE sNhss CFhanrsans serF
Frhmlsl sgeurih

Bihdsar _aubhoer sfluma uElmas CarEelsE SEaEaD;
1. B inmmud C ol (i
2.A Moy B ol (Rin,
3. C M E il {Hui.
4 A nmoud D o (i,

[Question ID = 333][Question Description = 193_7004_SIDD_OCT22_51_Q93]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]



94) I "Azhal Keel Vayd" condition which of the followirig statements are

true:
A This dissase occurs due to "Azhal" increasing food and activities
when Vali hiumiors (s alreadyinitiated in its state;

B, Dcecurence of crepitation, during movement of joint
C, |tleads to heart disease

D, Leech application is effective in this condition

E, Ulurthiu thylam can be applied

Choose the correct anzwer from the aptions given below,
1. C Dand E onily,
2. B Drand Eonly,
3, A BandE only.
4, C and Donly,

2yp60 Bsveumy GEmUils) BlhserL Fnhmiseris)
Frlwumsraubhamm CsrEesh&san

A @& suaflS@Ghmn searatlanaoulls) Ul @hs6rer GLms!, 211080
GHDEHEING SMenoTl_S& QU1 2 soral, Glaliems (Wnges s bhmmsy
UmseEih Gmimii

B. Bd) mygmswih GG sahanmid L L WENL SsalD, S,
FaE GQEarD @ 6l 2 oL mausTil G\ SEh

C. H075 eumyy eredrenuth Grmami LimUil& @i
D. @mCETullsy @il enL all(Hsd) mETamIn L& ELD
E. © EHHS eNSaSEams ST LLF ansudssauni

Shs s sumrueT sflumsr uElanasg CarEelsE EEaD:
1.C, D o E @G,
2. B, D inmub E ol (B,
3. A B ummub E (G,
4, C whmuh D o GHih.

[Question ID = 334][Question Description = 194_7004_SIDD_OCT22_S1_Q9%4]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]



93) Match List | with List 11

Match the medicines to be administered to strengthen the udal thathukkal
in Neerizhiru Noi

List | List i
A, To strengthen the muscle |l. Pon parpam
B, To strengthen the bone (Il Ekhu parpam

C. To increase the semen |l Velli parpam

D. Tostrengthen the blood |IV. Kareeya parpam

Cheose the correct answer from the options given below:
T.A-LB-1,C=-1I,D-IV
2A-IV,B-I,C-1l,D=]
3A-B-1,C-1V,D-]I
4. A-IV,B-I,C-IIl,D-1l

U0 usl |2 L g ul1guwsl |1-20 Quimip &S ey

ey Cmmulley 2 L 6) srsudsaner sushrantolii(h 6618 DE
ST EEUETIA U D (R ESISEET GlILLIT(IH S S 5.

L g el | L g ey ||

A, oarelt QUIBGUSHE I. Quimredr uhLub

B. arebry sueremnOiuBieusheE |, erdies uhuLh

C. SQETEMS CQUESGUSHIE (Il Geusrer] LD
D. GGEW GuGSGMsDE V. srful ubub
FhG s suhoueT sflwumar uElanas CarhelsE &EaEen;
T.A-LB-1l,C=1ll,D- IV

2A-IW,B-1lJ,C-1l,D=]

S.A-N.B=-1,C-IV, D=1l

4 A-IVB-1I,C-1,D-=1l

[Question ID = 335][Question Description = 195_7004_SIDD_OCT22_S1_Q95]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]



%6) Match List 1with List 11

hatch the following medicines and its indication correctly

List | List 1|

A Thumbal Karukku Kudineer ||, Kaduppu kazhichal
B. Liriga thuvar I, Cozhi Ml

. Linga mezhugu . Parunkazhichal
L Thippiliathi kudineer (V. Minakazhichal

Choose the correct ariswer from the optionzs given below,
TA-IB-1,C-IV, D=1l
2 A= B-1,C=Il, D=1l
3 A-LEB-ILC-IWV D=1
4 8-V E-IlLC-1,D-I

UL IguIsy | 2 LeiT UL 1guwisu |l 22 QU mms ey 1o

L0(BBSIEET 0HmID Hrph GHEILS@ET GUThS S &

L L | L L L LT ]

A slhanUSEEmRES U RTL &RUUSE & 0550
B_@Qﬁl @55@_@_&__ Il e 1 EmHm

C. (@60l & G0 D I, G LR ilE L F & e

D HEOUSLTE S @ kT IV Blarssflsaa

Liletreuapid eilapl L SCsTeysafleflmpha & flwmear LUSE anag
(BETRE SR SEe LD

1. A4-1LB-1,C-1W, D=l

2 A= EB-C=LD-

3A-LEB-ILC-IN, D=1

A 8- EB-Nl,C=Il, D=

[Question ID = 336][Question Description = 196_7004_SIDD_OCT22_S1_Q96]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]



97) Match List | with List 11

List | List 1l
A, Cceurs due to kabavatham ||, Visarchiga kuttam

B. Occurs due to kabam I, Wipathiga kuttam

. Oceurs due to kabapitham |11 Kiruttina kuttam

O Gccurs due to Mathapitham|[V, Satharu kuttam

Choose the correct ariswer from the options given below,
TA-LE=I,C-l, D=1V
2 A1 B-l, C-IL, D~
AL B-I, T D -1
4.8-1,B-1C-IV, D=l

ulilgwsy |2 e uligwsu -zl QuUmms 1S,

g e | LG us I

A &L GUTEHETE 2 DU LTeS I ellefeaflas gL

B. :sLGS amrmel 2 MHUSEumaI S I eflursls Gl L h
C.au sssGarm o HusGwmaus | Slgel Qe @GL L
D.ans UsssEearmea @ MusEwmeus |V, &&mem @il ih
ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:
1.A-1LB-1,C=1,D- IV

2A-IW,B=-1lJ,C-1l,D=]

3 A-LB-IV,C-1,D=1

4 A-1,B=1,C=I, D=1l

[Question ID = 337][Question Description = 197_7004_SIDD_0CT22_S1_Q97]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]

%8) Match List | with List 11

List | List 11

A Marambil warman ||, 36

B. Maadiyil varmarm |I. 10

. Thasaivil varmarm (11, 21
CuSanthuvarmam |1V, 20
Choose the correct answer fram the options given below,
TASL B C-NL D1
2 A= B=IlC- N, D1V
AN EB-NLC-IL D~
4 8- B, C-1ll, D~




Uliguwieu | 2 Ler Uligwisu ll-3l QUMD S SIS,

L g e | LI g ugd 1
A, BTDLI6L eumnih |1 36

B, mirauiieh augnin I 10

C. semaullel sufohilll. 21

D. F&l euini V. 20
ZEhssar_suhmueT sflwmar uElenss Carhe s &Eaayh:
T.A-1LB-1,C=1l, D-IV

2ZA-1LB-1LC-1,D-1V

. A-IVB-IIl,C-1I,D=]

4A-IVB-ILC-1I, D=1

[Question ID = 338][Question Description = 198_7004_SIDD_0CT22_S1_Q98]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

99) Which of thie followirig kirigal types is chiaracterized by incessant (non

- stop) crying and redness of eyes?
1, Walippu kirigai
2, Maruttu kirigal
3, Anar kiriga
4, Munangal kirigal

&7 LG mIpE D Syip sl @) & metoT 19, (b gev, 6l L
&louhE mhEma o g S flanswilar e 2y, EL0?
1, suebl iy B flenas
2, L@ Bflans
3, @yenrh Eiflenas
4, e san 5 flens

[Question ID = 339][Question Description = 199_7004_SIDD_OCT22_51_Q99]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]

100) Whitch of thie followirig types of kirigal is typically characterized by

yawning and lacrimation?
1, Jala Kirigai
2, Bootha Kirigai
3. WVaatha Kirigai
4, Silethmaria kirigai



GlEmL el @ qorg&me Inhm D Saioreanl T 611 Hev B
g flena e e QL7

1, 2 R flans

2 o Biflans

3 oung Sliflang

4 Fletawsuars Siflans

[Question ID = 340][Question Description = 200_7004_SIDD_OCT22_51_Q100]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

101) Maadi Madal perceived in Moorchal noi are;

1. Pitha kakam, kaba pitham
2, Kaba pithar, Vatham

3, Pitharn, Pithavatharm

4, Kabam, Kabapitham

AN TEFan s ILT60 g marr L (R D [RITL [HleneugEaT araneu?
1, Ugs suh, su ssihn
2 &=U UY&ssh, sursin
3 Ugsh, &5 cursid
4 mul, &0 YEsn

[Question ID = 341][Question Description = 201_7004_SIDD_OCT22_51_Q101]
1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]
3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]

102) Whiat s the dose of Serankottal ilagam far the treatment of verpadai?

1,1/ waragan edal
2,1 /2 waragan edal
3,1 waragan edai
4, 2 waragan edai

CErmmGarlanl. @erslh GleusmLam & CanhiasiuEihn
DIETTEY ETEATEOT 7

1. SITED EUITTTESENT aTanL

2. ZENT EUTTHET sTamL

3. B CUTITSET eTamL

4, 2 eUIImEeahT aTanL

[Question ID = 342][Question Description = 202_7004_SIDD_OCT22_51_Q102]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]



103) Porridae preparad with Vendhyam and Amirtha valli is given forwhich

varmam kaalam?
1, Adappa kaalam
2, Alari warmarnm
3, Moothira kaalam
4, Suzhi gadi varmam

Qeubswll b el Feeudued S o b eul s he/
SEmGEhE CeEnB&EsluhEngs?

1, @l L& &Hmeol

2, @aorfl eurinm

3 BALNSE T EmaniD

4, o JWImg guTnLh

[Question ID = 343][Question Description = 203_7004_SIDD_OCT22_51_Q103]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

104 ;
) Given below are two staterments:

Statement | Varatchi karappan is a curable type of karappan,

Staternent I Characteristics of meat adour is g feature of Varatchi
Karapppan,

Irlight of thie above staterments, choose the most appropriate
answer from the options given below,

1, Both Staterment| and Statement|l are correct,

2, Both Staterent | and Staterment || are incorract,

3, Statemnent | is'correct but Statement |l is incorrect,

4, Statemment | izincorrect but Staterment || 15 corract,

E60 @ reor(h) sahmiseT QErhiEsUul (Bsmerear:
Mol | eum’ & sglnmer B asma STUILNET JLEin

S [ euml F sglinmelsh Leumel mrhmn efesl) ersimm
& Dl Lh smerr L (RID

GINEEY 2 676 SnMmiserfler i uanL e, Bih s s auh e
laEah QuUmGES ST LEanas Caihe 50 &sayi:

1. gmbol | oMo smo il sy &l @reoorGih sflwmarans.

2. s | inmond ssho || Ereoer(hilD &eUm meiTesGL.

3. S | FlUmeTS. SLamTal, Sl || SeummeTsl,

4. S MM | HEUMTETSI. S 6TTe, Sa Mo || gl meora,

[Question ID = 344][Question Description = 204_7004_SIDD_OCT22_51_Q104]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]



3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

105 :
) Given below are two statements;

Statement [ Thanga parpa Urundal cures Venkuttam

Staternent |l Thanga parpa urundai i to be administred for 3 months
ir the treatment of Yenkuttam,

Ir light of the above statements, choose the most appropriate
answer from the options given below:

1, Both Statement| and Statement | are correct,

2, Both Statement| and Statement|l are incorrect,

3, Staterment | is correct but Statement Il is incorrect,

4, Statement | is'incorrect but Statement |l is correct,

EG0 @ renor(h) snMmiseT QEmhiEsUul (Bsmerer:
MM | sRsUhU 9 gratmanL Wmd) Qe LD BariD.

S [I: Gleuaergsl L CHMUSE SmslmL @ gmeoranL ullansr 3
WOrsn o | Gasmeier(h! sur Ceuesor (G,

BINEEY 2 676 Snhmiserler g iuane uiley, Bihd st suhmian
iflsayh QUMESSIOTET LSanes CaiTHe sE &aayth:

1. b [ inmmnh s h o |l @ oeor(pith siflumarana

2. s | inmond ssho || Ereoer(hlD &eUm meuTeseL.

3. b | FrlumeTsl. SLemmel, Sl || Seummearsl.

4. S MMl | HEOUMTETS!, S aTTa, Sl || il mers,

[Question ID = 345][Question Description = 205_7004_SIDD_OCT22_S1_Q105]
1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]
3. 3 [Option ID = 1379]
4. 4 [Option ID = 1380]



106) Chopse the correct option about karpam

A, Amukkara kizhangu produces charm
B, Kodi vasalal strengthiens the body

C, Perunkanian produces mental strength
D, Vila tree pravents death

E. Kaiyar Samonla churanam when taker with terder coconut water
and honey for one month each, preverits and changesthe greying of
hair ardwrinkling of skin (ageing)

Choose the correct anzwer from the options given below,
1. A and Bonly,
2,48 B C Donly,
3 A Band Conly,
4 4B CDandE

SHumssT LUMHnl Bihassaor. s MsansT urmilihs
Filwrarans CaTHE S0,

A NSETT BpmEarTe) S0E 2 L mgGih
B. GasmgsusFanar-ullarms) Lepese L mEiD

C, GRS ETITEr INer suehlemin @ giorl & Eih
D. afilgrir WBTID INTeTSem s S SiEin

E, EMSILUTTEN FEN6 (GIoTHEmN S GeTBIfle) 8205 DTSN, G sy
B DTSN 2 GEmeTar Hen T, EanT WmmiD,

Fns s aubmeT Frlwmear uElemas CEIE6SH &0,
1. A WHmun B ol (HGLn,
2.A,B C DInC (RGN,
3. A, B nmmub C 181 GG
4 A B C DiDHmilh E

[Question ID = 346][Question Description = 206_7004_SIDD_0OCT22_5S1_Q106]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

107) Whitch il is used for bathing in Azhuganni kuttam?

1, Azhinjil aathava thylam

2, Sadaichi eninal

3, Thirivithasinthamani thiylam
4, Utharmani ennal



&% ENSUSMS CHLSSH @aflEE Spseiman @ LD
Smih?

1, 2y flehEl fo 2 Fmeud enganh

2, Fan L&) eredora e

2 Bflells & s mnanf angaulh

4, o Fominant] sraior @ el

[Question ID = 347][Question Description = 207_7004_SIDD_OCT22_51_Q107]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]
3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

108) Which one of the following is used as an adjuvant for Ettipoondy

thailam forkanda malai?
1, Castor oil
2, sugar
3 Water
4, Lemon juice

SGH0T L LDTETEY 3[BT S & TeT L0 Th SI6u SHEIED e L1 LLeor(h)
GG 0SS R T MTaT S5 0asaT L0 (TR B & aTaiTenT 7

1, EDmim L0 e @ aréiur Grar L

2, FUSSENT

3, getoraiut iy

4, LIp&amm

[Question ID = 348][Question Description = 208_7004_SIDD_0OCT22_51_Q108]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]

109) Irwhich tvpe of penile disease, Leech therapy and pastes with

chiaracteristic of sweet taste s used to normalize the coridition?
1, Thimir kuri pun
2, Thulal pun
3, Thol azhi pun
4, Sennira’koppulam

6T & cuems ayeer @GNl CEmuiled @y an Nl [, S eoflliumeor
CouUImISaneT LE 2isanar LanDu Bleneaninse 6o meoor(h)
ey Geuator(Hin,

1. 6ldlj& @MlCHmL

2. sememll Lador

3. Gomal 0l 00T

4 Qemnn Qs miyartn



[Question ID = 349][Question Description = 209_7004_SIDD_0OCT22_51_Q109]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

110) As per the text Siddhar arival maruthuvam, Which pugai(fumigation) is

indicated for Maszal blodk (Maasi adaippu)?
1, Sambirani pugai
2, Agathivar Kuzhambu pugai
3, Kandarkathari withai pugai
4, Kuthirai Kulambu pugal

Fle5T MM INGSSHIN LSSHE5S@T-LIY, 6ThHS s Liamns
wrEwsmL ClHe samoil (Rerens?

1. gmin Nyemf] Lemas

2. 21&5HIWT GO Lians

3. sanlLmnsss) allems Lans

4 @By GaThyLll LS

[Question ID = 350][Question Description = 210_7004_SIDD_OCT22_5S1_Q110]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

111 ;
) Griven below are two staternents:

Staternent |1 Korukku nof is classified into five types

Staternent |l; Blackish discoloration of peniz i seenin Kuruthi korukku
nol

Irlight of the abowve statements, choose thie correct answer from the
options giver belows

1, Both Staterment | and Statement |l are true,

2, Both Staterment | and Staterment |l are false.

3, Staternent | istrue but Staterment || is false,

4, Statement | is false but Statement | s true,



ZE610 @ ranr(h SaMmiseT Qerhasliul (Bsmersr:
FaMm L GQemmaE CHm 5 euansLEin
FMm | GHES ClemmsE CrTe suaranl sEEEmaEhD

GIOEE o 67T gammiseaflar aya iuan. uile, Bibhdsaor auhmian
Fifllwmar UElamE CaIHesHEsaLD:

CSabm | nHmih sho il &l @oeer@ih sflwumears.
Mo 1l S IS 6T el MITeTsmEy,

S| Frflumetsl. Sy eurmel), S Mo || &eum TS,

LS| Seummars, SLarmel, sahmi Il Eiflwirers.

[ -

Pl

[Question ID = 351][Question Description = 211_7004_SIDD_OCT22_5S1_Q111]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]

112) According to text Siddhar Aruvai Maruthuvam, which of the following

statements regarding to Moola nolare true,

A, Pair in the umbilicus 15 seen in MNeer Woalam

B. In Thamaraga Moala rioi, bleeding per rectum isnot seen
C, Extra halr growth in anus isseen in Vali moolam

D, Head ache and constipation are seen in pitha moolam

E, Pair i the thigh is present in kutha Moolam

Choose the correct answer from the optiens given below,
1.4 B Cand D only
2. B, CandE only
3 A CandEonly
4.4 C,Drand Eonly



FS557 QM INGSSIN LS55586T-U10, fne) CHmL
umnilw Bbhsseor, s hmiseilsy sfllurarsuhann Csiiay
GlFilis,

A, B enev Grmullsl @amiiudleu sushl o gor_mEih.
B. H1075 tna) CETulle) GmE GauaflliuL 6) SremriiuL s,

C. suarf] eneuE Es) suFar sumuiley 248 s wullf
WenETEEmSEGID

D. 185 epsw Cwmulley Semeveuedl, InauEs B smemriuEih.
E. &5 flnauEEs) Qs manl sushl smamriiu(min

Ehsaaramhmer sflwumar uBmns CaIhosd &saih:
1.A B, Cwnmouth D oL Gib,
2. B, C 1ofhouh E ol (Hub.
3. A Cinmonb Enl (B,
4 A C, Dinmmih E i (Buh,

[Question ID = 352][Question Description = 212_7004_SIDD_OCT22_51_Q112]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]

113) Which of the following is & complication of septic abortion?

1. Dophoritis
2 Cervictis

3 Endometritis
4, Salphirigitis

Bz smefans-allarma) ghudih Bleme asi?
1. Flanarlienu-sriilsin
2. smUeL S0HS STUlsin
3. SElanL e 6@ seuF sTillsh
4, Flanartiumans sTulsh

[Question ID = 353][Question Description = 213_7004_SIDD_OCT22_51_Q113]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

114) As per the text of Sool Maruthuvam, during which period of the

gestation, amniocentesis can be performed?
1, 10-117 weeks
2, 1712 weeks
3, 12-18weeks
4, 14-16 waeks



G ETEEET aThs uTrEEd) aubaflGurQessar Seu
uUIGEnsanar Gelua)miD sTar @G INIHS S0 mTe) Sn uEms7
1.10-11 QUM Al ET
2.11-12 eUmTmalseT
2, 12-14 QuUmmlsEr
4, 14-16 qummlSEr

[Question ID = 354][Question Description = 214_7004_SIDD_OCT22_S1_Q114]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]

113) The percentage of accurrence of right occipito-posterior fetal

presentation at birthis;
1,5 %
2,108
3.20%
4,65 %

maElCubrilcreuaua el o swmlanse aiuiib
FsallEs0n?

1.5 %

2,10 9%

3,20 %

4, 65 %

[Question ID = 355][Question Description = 215_7004_SIDD_OCT22_S1_Q115]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

116) As per the Magalir Maruthuvam text, what is the measurement of

intercrestal diameter of false pelvis in female
1,51/, —6inches
2,101/, — 11 jhches
2. /—="=8 1f3 inches
4,11—-121/, inches

n&e T Whd syl mmedladr LG waserhles Gl mi
FnUSSHEr @enL L nedang Lgneu 6L ST a6y
grefreur 7

1,51/, — 6 ayfugevin

2,101/ — 11 sifi@aih

3.7— 81/, arfuigaih

4 11-121/, ayfu@ein



[Question ID = 356][Question Description = 216_7004_SIDD_0OCT22_S1_Q116]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

17) Az per-the text Magalir Marathuvam, whiat is the weight of ovarny?

1.4 grams
2, b grams
3.8 grams
4, 10 grams

ngerfl T g sieu D mrellar L Flanear Lanuuiler eranL
ETElTEuT 7

1. 48 gmhb

2 6 & gmhb

3, 8@ gmb

410 Elgmih

[Question ID = 357][Question Description = 217_7004_SIDD_OCT22_S1_Q117]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]
4. 4 [Option ID = 1428]

118) The perceritage of water in Amniotic fluid is

1. 49%
2. 59%
3, 79%
4,99%

Lienfl&em L hiflao @ e Biflelr FeallE sih
1, 49%
2, 09%
3 79%
4, 99%

[Question ID = 358][Question Description = 218_7004_SIDD_OCT22_5S1_Q118]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

119 ? i . . ]
) Which hiormone is responsible for increased secretion of mucous from

cervix during pregnancy?
1. Estrogen
2, Progesteron
3, Prolactin
4, HCG



@G STUES &G S10HE uGH U6 Fefl Sy
el EnmeushiE Sy nrar amimyGLmeT eng?

1. FeUL GrmGiazsir

2. UGImEIma L et

3, LGrmeumas L 1a 6

4 ame § 2l

[Question ID = 359][Question Description = 219_7004_SIDD_0OCT22_5S1_Q119]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

120)  which one of the following roat is'an ingredient in pavattai araippu

which is indicated for por mantham?
1, Welai ver
2, Vetti ver
3, Saththicharanal ver
4, Sivathal ver

GUTT WTihg CHEMLI&ETEr Limey L anl senglil n0ihbE 0
GFaplh Geul ersl?

1, CBeuanar (Gau

2, Gleul 1 R

3, FSHE AN Geul

4, Fleuens Geur

[Question ID = 360][Question Description = 220_7004_SIDD_OCT22_5S1_Q120]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]





